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Quadratic Relationships in Data Tables

Find the first and second differences for the data in the tables below. Using what
you know about differences, determine what type of relationship is represented by
the data.

X y X y X y X Y
0 | 14, 1| -384 0 | 65, o I T
1 2/+57"1 2 | -454 5 11804 g7-2 |26 vz
2 | 7 _n>*2 3| -524 5 2 | 72 .,,43"5" 3 |12,
3 | 14 ;__‘,,P“’ 4 | -59 49 3| 32 :,__,27-2- 4|24 .
4 | 23 5 | -66 4 | -40 5 | 48
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Below are tables of quadratic data. Fill in the missing values.
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There is a relationship between the second difference in the data and the

value of "a”

see if you can figure out the relationship.
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in a quadratic equation. Experiment with data tables you create to

y = -3x°+ 2x + 10

Using this method to find the value of “a”, and what you know about finding
equations based on data tables see if you can figure out how to come up with a
quadratic equation from a data table. Practice with the data tables above.
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Apply what you discover to come up with equations for the data tables below:
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5. ¢ rbx-1Z=y
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